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NEET MICRO TEST 19 (29.11.2024)    20x4=80 MARKS 

 

Botany: Biodiversity & conservation, Zoology: Excretory products & their elimination 

Chemistry: Aldehydes Ketones & Carboxylic Acids, Physics: Magnetism & Matter 

 

1. Which one of the following pairs of geographical 

areas show maximum biodiversity in our 

country? 

1) Sunderbans and Rann of Kutch 

2) Eastern Himalayas and Western Ghats 

3) Eastern Ghats and West Bengal 

4) Kerala and Punjab 
 

2. The value of slope of regression (Z) of species-

area relationships, when analysis is done among 

small area lies in the range 

1) 1 to 2 

2) 0.1 to 0.2 

3) 0.6 to 1.2 

4) 1.15 
 

3. Which of the following forests is known as the 

'Lungs of the planet Earth'? 

1) Taiga forest 

2) Tundra forest 

3) Amazon rain forest 

4) Rainforests of North-East India 
 

4. Given below is the representation of the extent of 

global diversity of invertebrates. What groups 

the four portions (A-D) represent respectively? 

 
1) A-Insects, B-Crustaceans, C-Other animal 

groups, D-Molluscs 

2) A-Crustaceans, B-Insects, C-Molluscs,  

D-Other animal groups 

3) A-Molluscs, B-Other animal groups,  

C-Crustaceans, D-Insects 

4) A-Insects, B-Molluscs, C-Crustaceans,  

D-Other animal groups 
 

1. gpd;tUk; ,iz> Gtpapay; gFjpfspy; vJ ek; 
ehl;by; mjpfgl;r gy;Yapu; ngUf;fj;ijf; 
fhl;LfpwJ? 

1) Re;ju;gd;]; kw;Wk; uhd; M/g; fl;r; 
2) fpof;F ,kakiy kw;Wk; Nkw;F njhlu;r;rp 

kiyfs; 
3) fpof;F njhlu;r;rp kiyfs; kw;Wk; Nkw;F 

tq;fhsk; 
4) Nfush kw;Wk; gQ;rhg; 

 

2. rpw;wpdq;fs;-gFjp cwTfspd; gpd;Ndhf;F 

rha;tpd; (Z) kjpg;G> rpwpa gFjpf;F ,ilNa 
gFg;gha;T nra;ag;gLk; NghJ ,e;j tuk;gpy; 
cs;sJ 

1) 1 to 2 

2) 0.1 to 0.2 

3) 0.6 to 1.2 

4) 1.15 

 

3. gpd;tUk; fhLfspy; vJ 'G+kpapd; EiuaPuy;' vd;W 

miof;fg;gLfpwJ? 

1) ilfh fhL 

2) ld;l;uh fhL 

3) mNkrhd; kiof;fhL 

4) tlfpof;F ,e;jpahtpd; kiof;fhLfs; 
 

4. KJnfYk;gpy;yhj capupdq;fspd; cyfshtpa 
gy;Yaph;jd;ikapd; msitg; gw;wpa 

gpujpepjpj;Jtk; fPNo nfhLf;fg;gl;Ls;sJ. 

ehd;F gFjpfs; (A-D) KiwNa ve;jf; 
FOf;fisf; Fwpf;fpd;wd? 

 
1) A-G+r;rpfs;, B-fpu];Nlrpad;fs;, C-gpw 

tpyq;F FOf;fs;, D-nky;Ylypfs; 
2) A-fpu];Nlrpad;fs;, B-G+r;rpfs;, C- 

nky;Ylypfs;;, D-gpw tpyq;F FOf;fs; 
3) A- nky;Ylypfs;, B-gpw tpyq;F FOf;fs;> 

C- fpu];Nlrpad;fs;, D-G+r;rpfs; 
4) A-G+r;rpfs;, B- nky;Ylypfs;;, C- 

fpu];Nlrpad;fs;, D-gpw tpyq;F FOf;fs; 
  

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

..

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


2 

5. Alexander Von Humbolt described for the first 

time: 

1) Laws of limiting factor 

2) Species area relationships 

3) Population Growth equation 

4) Ecological Biodiversity 

 

6. Elimination of urea in urine is mainly the result of 

a process known as 

1) Tubular secretion 

2) Ultrafiltration 

3) Active absorption 

4) Selective reabsorption 

 

7. Maximum reabsorption of electrolytes from 

nephric filtrate occurs in the region lined by the 

1) Brush bordered columnar epithelium 

2) Brush bordered cuboidal epithelium 

3) Ciliated cuboidal epithelium 

4) Simple squamous epithelium 

 

8. Excretory products eliminated by largest digestive 

gland of the human body are 

1) CO2 and H2O vapours 

2) NaCl and lactic acid 

3) Lysozyme and ammonia 

4) Bilirubin and Biliverdin 

 

9. Match animals placed with their excretory organs. 

Choose the option with only correct match. 

a) Planaria, Amphioxus i) Feather like gills 

b) Pheretima, 

Hirudinaria 

ii) Malpighian 

tubules 

c) Pila, Pinctada iii) Protonephridia 

d) Periplaneta, Locusta iv) Nephridia 

1) a(i), b(ii), c(iii), d(iv) 

2) a(iii), b(iv), c(i), d(ii) 

3) a(iv), b(iii), c(ii), d(i) 

4) a(ii), b(iv), c(iii), d(i) 

 

10. In Hemodialysis 

1) Blood is drained from kidney 

2) Cellphone tube is not required 

3) Blood is drained from a convenient artery 

4) Blood is drained from a convenient vein 

 

 

 

5. mnyf;rhz;lu; thd; `k;Nghy;l; Kjy; Kiwahf 
,ij tptupj;jhu; 
1) fl;Lg;gLj;Jk; fhuzpapd; rl;lq;fs; 
2) rpw;wpdq;fs; gFjp cwTfs; 
3) kf;fs;njhif tsu;r;rp rkd;ghL 

4) Rw;Wr;R+oy; gy;Yapu; 
 

6. rpWePupYs;s A+upahit ePf;FtJ Kf;fpakhf 
,jd; nray;Kiwapd; tpisthFk; 
1) Foha; Rug;G 

2) my;l;uh/gpy;l;Nu~d; 
3) nraypy; cwpQ;Rjy; 
4) Nju;e;njLf;fg;gl;l kWcwpQ;Rjy; 

 

7. ne/g;upf; tbfl;LjypypUe;J vyf;l;Nuhiyl;L 
fspd; mjpfgl;r kPz;Lk; cwpQ;Rjy; ,jd; 
tupirg;gLj;jg;gl;l gFjpapy; Vw;gLfpwJ. 

1) J}upif tpspk;G J}z; vgpjPypak; 
2) J}upif fdrJu vgpjPypak; 
3) FWapio fdrJu vgpjPypak; 
4) vspa jl;iltbt vgpjPypak; 

 

8. kdpj clypd; kpfg;ngupa nrupkhd Rug;gp %yk; 
ntspNaw;wg;gLk; nghUl;fs; 
1) CO2 kw;Wk; H2O ePuhtpfs; 
2) NaCl kw;Wk; yhf;bf; mkpyk; 
3) iyNrhirk; kw;Wk; mk;Nkhdpah 
4) gpyp&gpd; kw;Wk; gpyptu;bd; 

 

9. itf;fg;gl;Ls;s tpyq;Ffis mtw;wpd; 
ntspNaw;w cWg;GfSld; nghUj;jTk;. 
rupahdij Nju;T nra;aTk;. 
a) gpshNdupah> 

Mk;/gpahf;]]; 
i) nrTs; Nghd;w ,wFfs; 

b) ngnubkh> 
`pUbdhupah 

ii) khy;gp[pad; Foha;fs; 

c) gpyh> gpd;f;lhlh iii) GNuhl;Nlhnd/g;upbah 
d) ngupg;shndl;lh> 

NyhF];lh 
iv) ne/g;upbah 

1) a(i), b(ii), c(iii), d(iv) 

2) a(iii), b(iv), c(i), d(ii) 

3) a(iv), b(iii), c(ii), d(i) 

4) a(ii), b(iv), c(iii), d(i) 

 

10. P̀Nkhilahyprp]py; vd;gJ 

1) rpWePufj;jpypUe;J ,uj;jk; 
ntspNaw;wg;gLfpwJ 

2) nry;Nghd; Foha; Njitapy;iy 

3) jf;f jkdpapypUe;J ,uj;jk; 
ntspNaw;wg;gLfpwJ 

4) ,uj;jk; xU jf;f rpiuapypUe;J 
ntspNaw;wg;gLfpwJ 
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11. Match the following. 

A) CH3CH2CH2CHO & 

CH3CH2COCH3 

I) Metamerism 

B) CH3CH2COCH2CH3 & 

CH3COCH2CH2CH3 

II) Chain 

isomerism 

C) CH3CH(CH3)CH2CHO 

& CH3CH2CH2CH2CHO 

III) Functional 

group isomerism 

1) A–I, B–II, C–III 

2) A–I, B–III, C–II 

3) A–III, B–I, C–II 

4) A–II, B–III, C–I 

 

12. Product (C) obtained in the following sequence 

of reaction is 

 

1)  

2)  

3)  

4)  

 

13. The reaction given below is called 

 
1) Stephen reaction 

2) Wolf–Kishner reaction 

3) Rosenmund reduction 

4) Etard reaction 

 

14. (CH3)2CHOH 
Mild

oxidation ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  
 (X) 

i) CH3MgI

ii) Hydrolysis ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ (Y) 

In the above sequence of reaction, Y is 

1) Isobutyl alcohol 

2) n–Butyl alcohol 

3) 3º butyl alcohol 

4) Isobutylene 

 

11. gpd;tUtdtw;iwg; nghUj;jTk;. 
A) CH3CH2CH2CHO & 

CH3CH2COCH3 

I) nkl;lhnkuprk; 

B) CH3CH2COCH2CH3 & 

CH3COCH2CH2CH3 

II) rq;fpyp 
INrhnkuprk; 

C) CH3CH(CH3)CH2CHO 

& CH3CH2CH2CH2CHO 

III) tpidnray; 
njhFjp 
INrhnkuprk; 

1) A–I, B–II, C–III 

2) A–I, B–III, C–II 

3) A–III, B–I, C–II 

4) A–II, B–III, C–I 

 

12. gpd;tUk; tpid tupirapy; ngwg;gl;l 

tpisnghUs; (C) 

 

1)  

2)  

3)  

4)  

 

13. fPNo nfhLf;fg;gl;Ls;s tpidapd; ngah; 

 
1) ];Bgd; tpid 

2) Wolf–Kishner tpid 

3) Nuhrd;kz;l; Fiwg;G 

4) vlhu;l; tpid 

 

14. (CH3)2CHOH 
Mild

oxidation ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  
 (X) 

i) CH3MgI

ii) Hydrolysis ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ (Y) 

NkNy cs;s tpid tupirapy;> Y vd;gJ 

1) INrhgpA+l;ily; My;f`hy; 
2) n–gpA+l;ily; My;f`hy; 
3) 3º gpA+l;ily; My;f`hy; 
4) INrhgpA+l;byPd; 
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15. RCH2OH 
acid KMnO4

        H3O+      ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ P. The product ‘P’ is 

1) R–COOH 

2) RCH2COOH 

3) R–OH 

4) RCOOR 

 

16. A barmagnet of length ‘l’ and magnetic dipole 

moment M is bent in the form of an arc as shown 

in figure. The new magnetic dipole moment will 

be 

 

1) 2M / π 

2) M / 2 

3) M 

4) 3M / π 

 

17. A closely wound solenoid of 200 turns and area 

of cross section 1.5 x 10–4 m2 carries a current of 

2A it is suspended through its centre and 

perpendicular to its length allowing it to turn in a 

horizontal plane in a uniform magnetic field 5 x 

10–2T making an angle of 30º with the axis of the 

solenoid. The torque on the solenoid will be (N – 

m) 

1) 3 x 10–3 

2) 1.5 x 10–3 

3) 1.5 x 10–2 

4) 3 x 10–2 

 

18. A magnet is parallel to a uniform magnetic field. 

If it is rotated by 60º workdone is 0.8 J. How 

much work is done in moving it 30º further? 

1) 0.8 x 107 erg 

2) 0.4 J 

3) 8 J 

4) 0.8 erg 

 

 

15. RCH2OH 
acid KMnO4

        H3O+      ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ P. The product ‘P’ is 

1) R–COOH 

2) RCH2COOH 

3) R–OH 

4) RCOOR 

 

16. ‘l’ ePsKk; M fhe;j jpUg;Gj;jpwDk; nfhz;l 

rl;l fhe;jkhdJ glj;jpy; fhl;bAs;sthW 

tisf;fg;gl;Ls;sJ. rl;l fhe;jj;jpd; Gjpa 

fhe;j ,UKid jpUg;Gj;jpwdpd; kjpg;G 

 
1) 2M / π 

2) M / 2 

3) M 

4) 3M / π 

 

17. N Rw;WfSk;> 1.5 x 10–4 m2 gug;gsTk; nfhz;l> 

2A kpd;Ndhl;lk; nry;yf;$ba thpr;RUspd; 

ikaj;jpd; topNa mjd; ePsj;jpw;F 

nrq;Fj;jhf> fpilkl;lj;jpy; 5 x 10–2T vd;w 

rPuhd fhe;jg;GykhdJ thpr;RUspd; mr;Rf;F 

30º Nfhzj;jpy; nrYj;jg;gLfpwJ. ,jdhy; 

thpr;RUspy;  cUthFk; jpUg;Gtpir vd;d? 

(N - m) 

1) 3 x 10–3 

2) 1.5 x 10–3 

3) 1.5 x 10–2 

4) 3 x 10–2 

 

18. rPuhd fhe;jg;Gyj;jpw;F ,izahf cs;s 

fhe;jj;ij 60º f;F Row;w 0.8 J Ntiy 

nra;ag;gLfpwJ. mij NkYk; 30º f;F  efu;j;j 

vt;tsT Ntiy nra;ag;gl Ntz;Lk;? 

1) 0.8 x 107 erg 

2) 0.4 J 

3) 8 J 

4) 0.8 erg 
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19. The variation of magnetic susceptibility (x) with 

absolute temperature (T) for a paramagnetic 

material is 

1)  

2)  

3)  

4)  

 

20. Assertion: The poles of magnet cannot be 

separated by breaking into two pieces. 

Reason: The magnetic moments will be reduced 

to half when a magnet is broken into two equal 

pieces. 

1) Both A and R are true and R is the correct 

explanation of A 

2) Both A and R are true but R is not correct 

explanation of A 

3) A is true but R is false 

4) A is false and R is also false 

 

 

 

19. ghuh fhe;jg; nghUspy; fhe;j Vw;Gj;jpwDf;Fk; 
(x), ntg;gepiyf;Fk; (T) ,ilNaahd njhlh;G 

1)  

2)  

3)  

4)  

 

20. $w;W (A): fhe;jj;ij ,uz;lhf cilg;gjd; 
%yk; mjd; JUtq;fis gpupf;f KbahJ. 

fhuzk; (R): xU fhe;jj;ij ,uz;L rk 
Jz;Lfshf cilf;Fk;NghJ fhe;j ,UKid 

jpUg;Gj;jpwd; ghjpahff; Fiwf;fg;gLk;. 
1) A kw;Wk; R ,uz;Lk; rhp kw;Wk; R vd;gJ A 

,d; rupahd tpsf;fk; 
2) A kw;Wk; R ,uz;Lk; rhp Mdhy; R vd;gJ A 

,d; rupahd tpsf;fk; my;y 

3) A rhp Mdhy; R jtW 

4) A vd;gJ jtwhdJ kw;Wk; R vd;gJk; 
jtwhdJ 
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NEET MICRO TEST 19 (29.11.2024)    20x4=80 MARKS 

 

Botany: Biodiversity & conservation, Zoology: Excretory products & their elimination 

Chemistry: Aldehydes Ketones & Carboxylic Acids, Physics: Magnetism & Matter 

 

Solutions 

 

1. Answer: (2)  

2. Answer: (2)  

3. Answer: (3)  

4. Answer: (4)  

5. Answer: (2)  

6. Answer: (2)  

7. Answer: (2)  

8. Answer: (4)  

9. Answer: (2)  

10. Answer: (3)  

11. Answer: (3)  

Functional group isomerism: 

CH3CH2CH2CHO & CH3CH2COCH3 

Metamerism: 

CH3CH2COCH2CH3 & CH3COCH2CH2CH3 

Chain isomerism:  

CH3CH(CH3)CH2CHO & CH3CH2CH2CH2CHO 

12. Answer: (4)  

 
13. Answer: (4)  

Conversion of methyl benzene to benzaldehyde 

in presence of chromyl chloride known as Etard 

reaction. 
 

14. Answer: (3)  

 

15. Answer: (1)  

16. Answer: (4)  

17. Answer: (2)  

18. Answer: (1)  

19. Answer: (1)  

20. Answer: (2)  

Both A and R are true but R is not correct 

explanation of A.  

+ CH3Cl
anhyd.

AlCl3

Cl2 2(eq)/h

CHO

CH3

CH Cl

Cl

373 K

H2O

CH OH

O H

Benzaldehyde

-H2O

(CH3)2CHOH Mild
oxidation
→    

3i )CH MgI


ii)Hydrolysis
→  C

H3C CH3

OH

CH3

 

RCH2OH 4

3

acid KMnO

H O+→  RCOOH 

2M sin2Msin
22M '

3

 
 
  

  
 
 

 

3M
M '


  

 The new magnetic moment 

60

 = 200 x 2 x 1.5 x 10
-4

 x 5 x 10
-2

 x 
1

2
 

 = 1.5 x 10
-2

 Nm 

o o

1

o o

2

WD MB(cos 0 cos 60 )

WD MB(cos60 cos90 )





 

2

1
0.8 2

1WD
2

  

WD2 = 0.8 J = 0.8 x 10
7
 erg 

  = MB sin  = NiAB sin  

1

T
   

 - T graph is rectangular hyperbola. 
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